Snowman Addition Cross Qut

Directions: Roll two dice.
Find the sum of the
numbers. Cross out a box
with the sum. When there
are no humbers left with
the sum you roll, you lose
your turn. The player who
crosses out the last
number is
the winner.
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Sunny Snowmen Addition Cross Qut

Directions: Roll two dice.
Find the sum of the
numbers. Cross out a box
with the sum. When there
are no humbers left with
the sum you roll, you lose
your turn. The player who
crosses out the last
number is
the winner.




Snow Fun Addition Cross Qut

Directions: Roll two dice.
Find the sum of the
numbers. Cross out a box
with the sum. When there
are no humbers left with
the sum you roll, you lose
your turn. The player who
crosses out the last

number is
the winner.

O 0O N OO P W [N

O 0O NONOT| P W |N

—
@

—
@

p—
f—

f—
—

>

—
N

—
AN

10 anm;
\\ = /Ilfgn“
(@ B
M=

C




\ Arctic Animals Addition Cross Qut

Directions: Roll two dice.
Find the sum of the
numbers. Cross out a box
with the sum. When there
are no humbers left with
the sum you roll, you lose
your turn. The player who
crosses out the last
number is
the winner.
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New Year Addition Cross Qut >

Directions: Roll two dice.

Find the sum of the ¢
numbers. Cross out a box
with the sum. When there
are no humbers left with
the sum you roll, you lose
your turn. The player who

crosses out the last
number is

4 the winner.
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@ | Valentine Addition Cross Qut

Directions: Roll two dice.
Find the sum of the
numbers. Cross out a box
with the sum. When there
are no humbers left with
the sum you roll, you lose
your turn. The player who
crosses out the last
number is
4 the winner.
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Snowman Multiplication Cross Qut

Directions: Roll two dice.
Find the product of the
humbers. Cross out a box
with the product. When
there are no numbers left
with the product you roll,
you lose your turn. The
player who crosses out the

last number is
4 the winner.
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Snow Fun Multiplication Cross Qut

Directions: Roll two dice. -
Find the product of the .
nhumbers. Cross out a box
with the product. When
there are no numbers left
with the product you roll,
you lose your turn. The
player who crosses out the

last number is
the winner.
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Sunny Snowman Multiplication Cross Out

Directions: Roll two dice.
Find the product of the

4

humbers. Cross out a box
with the product. When
there are no numbers left
with the product you roll,
you lose your furn. The =
player who crosses out the -

last number is
the winner.
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Arctic Animals Multiplication Cross Qut

Directions: Roll two dice.
Find the product of the
humbers. Cross out a box
with the product. When
there are no numbers left
with the product you roll,

you lose your turn. The
player who crosses out the -
last number is
4 the winner.
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New Year Multiplication Cross Qut €
Directions: Roll two dice.
Find the product of the
numbers. Cross out a bo %
with the product. When
there are no numbers left

with the product you rollC
you lose your turn. The

player who crosses out the

last number is
the winner.
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Valentine Multiplication Cross Out

Directions: Roll two dice.
Find the product of the
humbers. Cross out a box G
with the product. When g
there are no numbers left (3
with the product you roll,
you lose your turn. The
player who crosses out the
last number is

4 the winner.
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